O 8000 GeV pp Jets
= = N L L Y O I Y I L B |:
E’ - Average A N, (p_>0.5, central-forward, f| < 2.1) —

= 15 T ]

g F -

5 10 — ]

c - 7]
g 5 —
g I .

C_Eo 0 : HE B N ] H m - - _:

"E - |

@) - 7]

5 S¢ E

~10 A —
.eF m ATLAS =
15 =
~ —A— Pythia 6.428 370 7
- @- Pythia 6.428 391 ]
—20 = Pythia 6.428 default -
- ¥ Pythia 6.428 pro-q2o ]
=25 [— —
: | | | | | | | | | | | | | | | I:
- L e
2 & =
0 — -
< — —
| - ]
|_
= B i
o 1
2 7
'.C-U' | —
m — —
05 i 1
. ...... I T T T S I T T R T T
0 500 1000 1500

Jet P, [GeV]

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


